20094FE (FRk21FE)
55100 AHBRE FA5—hE

ZRE] R X% e e E (BB | RRE [BA| B T e | 5L
9/13 4 2FFHE 1200m |RF>Z—T 85 12 | 432 kg - R 1EEFsR— 1:19.8
9/13 10 SHEEFRICL(3) 1200m (A F7AVYF /) h= 85 13 | 473 kg -3 R EHAYE 1:15.4
9/14 5 275G 1000m |=— 25 12 | 444 kg - ] 1EEFsR— 1:04.6

10 COFEREFRICL(2) 1600m |94 2INAA—=JL 15 45 | 524 kg +4 KBS ERBL 1:42.9
9/15 | 7 C1(8)(9) 1200m |[CAHRTT— OB | W5 | d42kg | +7 | THEE | BEA% | 1.31.0
016 |8 C1(6)(7) 1500m |DLX YD 8% | 44 | 550kg | +9 | EBA® | imaz | 1:.37.2
3] AT 1200m [OXFrLRF— | 88 | %3 | 453k | +4 | EEAR | TETEA | 1158
2 2 1400m |T—J>—771 85 462 | 438 kg +4 TREESS BT L | 1:33.0
4 3F 1500m [T1DJA4v AT XK 1085 13 | 506 kg -2 AEZEK W2 1:40.4
o/17 [ 7 C1(4)(5) 1400m |[JT 794 >R & | #3 | 501kg | +1 | ABEE | &H#E— | 1.27.9
OvoI€T—>3> 75 417 | 465 kg +2 R ERBL 1:14.9
? PRESRIC2(3) 1200m > 3% | %4 | 478kg | +3 | 2HER | BRRAZ | 1164
o/18 |_© C3(1)(2) 1400m |RowSELES 1% | %5 | 468kg | 0 | PBEA | ZmE@k | 1:.28.0
8 C2(10) 1500m |57 8E | 14 | 496 kg | 2 | ~Emma | EmmE | 1.383

mE11E AHEE - o— M
FRE ] R L% T e E BB | RRE [BA| B T ERESE R RPEON
8 C2(3)(4) 1200m [JLF~U»7 115 44 | 481 kg +3 HBEAER YNE:E 1:16.5
9/28 [ 9 C2(3)(4) 1500m |E7> =0 4% | 05 | 465 kg | +4 | MEEA | EHF&— | 1.37.2
12 HHASXEFRIC1(3) 1200m (A7 VYF ) h= 35 3 | 472 kg -1 HHRERA ERBL 1:14.5
929 | 9 C1(8)(9) 1500m |G HRTT— ~ 128 | ©5 | 445kg | 13 | EBH— | Em@%x | 1:.39.4
9/30 4 3F 1400m [TA1DAv AT X 65 3 | 509 kg +3 AEZEK YN Tl 1:32.0
o | IFEEARTEE | 1500m [OXFvIbRF— | 118 | %3 | 452ka | 1 | EBAEW | mE@mE | 1:405
10/1 1 2F 1000m |RHYZ—T 25 2 | 430 kg -2 KEFES 1P — 1:03.1
2 27 1200m |[ZDOF7—A/)\¥ 95 2 | 472 kg +4 FMBEE i T 5 AE 1:19.4
5 TR T200m |F=355vv5 | 3B | M2 [458kg | - | MEEE | TEE | 1332
7 C2(8)(9) 1400m |[R—wSE1ES 6% | M5 | 464 kg | 4 | FBEA | ZmRX | 1.31.7
10/2 8 C2(8)(9) 1600m |57 95 414 | 498 kg +2 Yo = HEERL ERB 1:47.1
) Ci(4) 1500m |ST7FRU—L 9B | M3 | 4/0kg | 3 | AEELA | WmRZ | 1.37.7
11 AT REB3(1) 1600m |9+ S\ 1AL 38 | #15 | 523kg | -1 | &BEZ | @@L | 1425
12 SRXERICL(1) 1800m |JT 701> R 3E | 43 | 505kg | +4 | AKBE®E | EHE— | 1.565

miE6E  BAEE

FRE| R X% TR 2 E BB | RRE [BA| B T WEE | 1L
10/13 10 LLUFTESRFRICL(3) 1500m [BIL/ICR—)JLRX 10%& 45 | 508 kg +8 BHEXH BTk _— 1:38.8

w128 AHEE Fo— M

ZRE| R L% TR B 2 T [ Uh | RhE [BA| B T e | 5L

5 o7 T200m 5= oF | M2 | 447 kg | 43 | &W# | GEE= | 1328

10/19 [ 8 C203)(4) 1400m L3 <07 108 | %4 | 477kg | 4 | ~E=A | sz | 1:.30.9

P EARBAICL() 200m [FA7<UFIHS | 5B | W3 |472ke | 0 | ot | EmAE | 1142

10/20| 8 C1(8)(9) 1200m |G HATT— R~ 12Z | ©5 | 450 kg | +5 | EmB#H— | Z=@E@% | 1:16.0

10/21 6 2FHE 1200m |2—IRA SRS — 25 462 | 438 kg - PRFF R EHHB 1:17.4
1 2FRTE 1200m |ZDOF7—A/)\¥ 115 2 | 475 kg +3 IRFESS I T 5 AE 1:19.8
10/22 3 3F 1600m (1M JAM2v+XFR 75 3 | 512 kg +3 AIEZEXK VYN E ol 1:47.0
10 REILERIC2(2) 1200m |OwOTE—S3> | 4% | %7 | 4/0kg | +5 | ~ EMeEs% | =@@% | 1:15.1
0 REILBRIC2(2) T200m [OXFrOLRF— | 128 | %3 [453kg | +1 | EEAH | Ter@h | 1163
7 C2(15)(16) 1500m |[R—wSE1ES 7% | %5 | 462kg | 2 | FBEA | EmR% | 1.38.6
10/23 11 T NREFEB3(3) 1600m | >I)\A A=)l 105 5 | 526 kg +3 KEFFE2 EREH 1:43.7
P SIRRBAICL(L) T800m [ST7ORU—4 | 118 | %5 | 474kg | +4 | FeEA | ERZ | 1598

miE13E AHEE - o— B
ZRE] R X% TR B % R | BRE [BA| B T e | 5L
3 C2(9)(10) 1400m |94>a30S5vv o | 78 | H2 | 456 kg | -2 | FmEA | JETEE | 1.18.1
11/2 4 2=F 1400m |RYZ—= 35 2 | 438 kg +8 IKEFES kS . 1:30.7
6 C2(5)(6) 1200m L3 <07 138 | 13 | 472kg | =2 | BHEEB hmaz | 1:.16.2
10 BFR4FRICL(3) 1200m (A 7AVYF+ ) h= 115 13 | 478 kg +6 RN EHHBE 1:17.0
11/3 2 2=F 1200m |27 —A)\¥ 65 2 | 478 kg +3 IRFESS i T S AE 1:18.7
7 C1(9) 1400m (OvVOIE—>3> 85 7 | 472 kg +2 Yo EHEESk EHHBE 1:30.3
1174 | 6 C2(9)(10) 1400m |E7>a%0 4% | %5 | 453 kg | -12 | Mm@A | EHE— | 1.30.4
11/5 | 8 Ci(5)(6) 1400m [/ R—JLRR 14% | H5 | 513kg | 45 | AEE® | EH#— | 1:.30.6
11/6 2 3F 1500m [1AJ12vXAFXK 85 13 | 514kg | +2 K& LINT:=L oyl 1:14.1
10 ~)C—XEB1B2(2) 1200m | Y —D+1>D 125 5 | 506 kg +2 FMESE i T S AE 1:15.2
7 | BTIGallopBC2(16)(17) | 1200m |[R—vSEAE> 7% | %5 | 461 kg | -1 | ABEZ | Em@k | 1161
W7 g | 2APPOTZIUE A goom |messtrt— | 118 | w5 | s2okg | +3 | mmmz | mmmx | 1451

B3(3)C1(4)
10 | Jo02F 1 RECI(1) | 1800m |[ST79RU—A 128 | 13 | 472kg | 2 | AE=x | sz | 1.58.0
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2 2 1500m |"&HS—— 8% | M5 | 433kg | -5 | ABEE | EEH— | 1:40.9
ScHN—
M 0 %%;%;;;1 3’[ 1000m |JTH—>s | 3% |45 |s00kg | -6 | mMmms | EF@E | 1:015
11/17] 11 EPERIC2(1) 1600m |OXFvAILRF— | 128 | %3 | 452kg | -1 | EBA®W | JorE@ | 1:46.9
1118 |8 C1(4)(5) 1600m |DAX Ny 38 | H4 | 557k | +7 | EEE | Rz | 1:44.6
8 C1(4)(5) 1600m |ST 79 RU—L S& | 13 | 4/5kg | +3 | AEEA | Az | 1.44.9
2 3F 1500m |[FA 1SV AT A | 88 | H3 | 510kg | +5 | W5t | ez | 1:41.0
11/19 | 8 Ci(3) 1600m |DJLJ\ R—JLARX 14% | 45 | 510kg | -3 | ABEE | EH#— | 1:47.0
11 —Z155IB3(3) 1600m |JT 7o > K 2% | 13 | 5lakg | +6 | KBEL | EBHE— | 1:43.1
mE13E AHBE T
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11/2 | 3 2 1200m |[91>39o>vws | 78 | H2 | 456kg | -2 | AEEA | JErEE | 1:18.1
4 2 1400m |"5S—— 3% | 12 | 438kg | +8 | ABEL | EHHE- | 1:30.7
6 C2(5)(6) 1200m |JLF< U7 13% | 4 | 4/3kg | 4 | BHA Emz | 1:17.8
10 BISRICL(3) 1200m |FA7(YF A= | 118 | 3 | 478kg | +6 | WHZ0E | REWAE | 1:17.0
11/3 | 2 2 1200m |TI5—A/\< 68 | H2 | 4/8kg | +3 | Fomm WETEmE | 1:18.7
7 C1(9) 1400m |Ov o IE—S3> | 88 | H7 | 472kg | +2 | & =meesk | REFAL | 1:30.3
11/4 | 6 C2(9)(10) 1400m |E7>3%0 4% | %5 | 453 kg | -12 | AImEA | EEE— | 1:304
11/5 | 8 C1(5)(6) 1400m |DILI\ R—JLARX 14% | 45 | 513kg | +5 | ABHEE | EHHR— | 1:30.6
11/6 | 2 37 1500m |71 OS5 vATX | 8B | H3 | 5ldkg | +2 | &XBEZ | WoBhaz | L4l1
10 N(—<XBB1B2(2) | 1200m |JTo—o1>D 128 | %5 | 506kg | +2 | Aimma | IEr@s | 1:15.2
11/7 | 7 | JBTGallopBEC2(16)(17) | 1200m |[R=wSE1E> 7% | %5 | 461kg | -1 | KBEZ | BEAEL | 1:16.1
o | ZANRITZTLE | soom |ma s it 11% | 45 | 529kg | +3 | &®@z | m@Emt | 1:45.1
B3(3)C1(4)
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11730 L2 C2(3)(4) 1600m |JLF< U7 148 | fud | 477 kg | +4 | AMBEA | Bz | 1:48.1
11 XA EB3(1)ER 1600m | D+ S/ A A—JL 9% | Y5 | 533kg | +4 | RBEZ | EMERKX | 1:44.6
4 2F 1400m |91>3o5vws | 2B | H2 | 461kg | +5 | SHEKk | JEr@mE | 1317
- — 20om P 78 | M2 [ad8kg | +1 | S | feEsk— | 1:17.8
12/1 S—TANSAS— | 108 | %62 | 439kg | +1 | Uik | E@k | 1:18.2
11 DD EHEA2 1400m |71 7<J>%w ~ | 128 | H6 | 502kg | +10 | GlEZ | RE@EL | 1:286
12 REFRICL(3) 1200m |ZA 71(VFIH= | 118 | H3 | 477kg | -1 | BEER | Z=@@E | 1:15.5
12 |2 2F 1400m | T —A/\< 128 | H2 | 487 kg | +9 | e @R | 1:34.4
8 C2(7)(8) 1600m |E7>3%0 108 | 15 | 448kg | -5 | Mm®EA | EHHE— | 1:46.4
2 |2 W 1200m |/ FATEL—F 3% | %2 | 432kg | - | FAIEEE | BEEE | 1:17.6
9 C2(11)(12) 1600m | 7L ILAG— 10% | H3 | 508kg | -3 | SEmftE— | IBM=#E | 1:45.9
12/4 | 5 2FHE 1600m [N DIL>51 | 6B | H2 | 462kg | - | BEE— | =@t | 1:50.2
w900 AntERRRE
FABE| R L—X%& ii=F 5 & = Hin | BAE | 18R B F FiE2 Gl A
12/8 | 10 | BERAUR—V&ZA2L | 1000m |JxH—o1>2 118 | 45 | 500kg | +9 | BHm¥% | IT@E | 1:01.5
mE10E )IEHS
FABE| R L—X%& ii=F 5 & = Hin | BAE | 18R B F FiE2 Gl A
12/15| 2 BE27 (4)(0) 1500m |5+ 6% | %2 | 455kg | -5 | WBmE | JErEm | 1:37.3
12/16| 3 3F(7)(1) 1400m |71 1SV AT X | 118 | H3 | 513kg | -6 | DIEMEA | WoBaz | 1:33.7
8 C1(5) 1500m | DL\ R—JLRX 9% | 45 | 513kg | +3 | ABES® | EFHH— | 1:36.5
12/17| 9 oAy L= 1600m | F7ATS5%w | o9& | #6 | 499kg | -3 | ‘ez | Z|mmx | 1:42.5
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mEE15E] AHERRS
FHH| R L—XR%& PEEE 5 & a Hin | BAE | B B F SZED A
1 2 1200m |[S—TARS~S— | 78 | %2 | 436kg | -3 | W&k | =@t | 1175
1228 | 2 = 1400m |R&S—= & | 42 | 441 kg | +8 | ABEE | EHH— | 1:30.3
1400m |7 —— 3B | H2 | 445kg | 3 | &K | EHE— | 1:31.0
6 ¥hE2TF 1600m |F7F 45 %2 | 453 kg | -2 SEFRERK Y& dhtat 1:45.3
1 2= 1000m |TIJF7—A/)\X¥ 5& 2 | 488 kg | +1 iNT=E Y& dhid 1:04.6
3 2F 1200m |/\FATCL—F 128 | %2 | 431kg | -1 | #@E®EA | IBE=8E | 1:18.7
12/29 [ 5 C2(8)(9) 1200m |7ILF1(ILAE— 5& | 13 | 516kg | +8 | SEmfe— | UBM=EE | 1:15.7
8 HEB3(4) 1600m |9+ /A AL 118 | 15 | 537 kg | +4 | SmE— | REME | 1:44.4
12 | 77>1—20008B1(2) | 1200m |JTo—51>0 168 | 45 | 514 kg | +5 | BHR% | WETEE | 1:16.3
3 2 1600m [F1>3aDzvwvy 45 #2 [ 461kg | O SEFERK e ghAs 1:46.4
Al T 94/5,(:1(71) VR | tsoom |oo—siivs—> | 15w | 43 | a3akg | +12| mEE | mwmz | 1:59.5
3 C2(12)(13) 1500m |[R=_vSESES 4% | %5 | 469kg | +8 | KBEZ | BEAAK | 1:37.6
12/31 [ 6 C1(A)(5) 1400m |DAX Ny 3% | H4 | 558kg | +1 | EIMEA | WBRZ | 1:28.8
8 HEB2(3) 1200m |ZURS+ 1 E> 8% | 16 | 500 kg | +10 | MEEH | REWAE | 1:14.5
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1/2 10 | O—IL5>7/R—XECI(TF) | 1500m [HIL/CR—)LARR 11& | #6 | 512kg | -1 KEFEP 1B R 1:37.7
mEE10E ARiERRS
F£HAH]| R L—2%& PEmH B £ = s | BAE | 18R B F BEES T RPN
1/12 2 3 1600m |F7—— 8& #3 | 437kg | -8 e 1SR 1:48.0
7 C2(1) 1600m [HJLJVR—)LARX 6 | 514 kg | +2 KEFEH o - -
1/14 11 TFETVHBOEZA2LLTF 1700m |1 T7ATSxRy b 2& 7 | 509 kg | +10 | REF# EmRAN 1:48.1
12 TESEUEEFRIB3(2) 1600m |FTFPIOA4>KR 15 4 | 525kg | +5 KEFEH o - 1:42.8
1/15 | 11 fi_/ @t RIB1(2) 1600m |JxH—91>D 65 #t6 | 510kg | -4 HHEAR YEFdhid 1:43.2
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1/18 6 3F 1600m (#1423 vwvd 15 #3 | 462 kg | +1 SREHR EF ghAs 1:46.1
9 C2(3)(4) 1600m |HALRA YD 25 #5 | 557 kg | -1 BEEXEH WHEBZ 1:43.0
1/19 2 C3(7)(8) 1200m |/\RAIAXF 15% | 46 | 463 kg | -3 e a0l IS =205 1:18.0
11 H—=xwv hEA2 1200m |F>2ITERT Y b 16% | #8 | 518 kg | +2 AT EHEB 1:15.6
3 3FIEIRILES 1200m |/\FA1TL—*% & %3 | 429kg | -2 )l HE= IS =205 1:17.9
1/20 5 4= 1600m |1 IDAZvATR 3& 14 | 525kg | +12 | HHER BBz 1:45.4
10 $R3E1FRIC1(2) 1600m |+ )\ A—=)L 11% | #6 | 532kg | -5 e a0l EMRAN 1:43.7
5 C3(3)(4) 1600m |[RZWIEAE> 8& 46 | 471 kg | +2 a1l EmREN 1:44.3
1/21 6 C2(11)(12) 1200m |7ZILIAILAS — 75 4 | 508 kg | -8 FEHE— IS =205 1:15.4
12 HHEB1(2)B2(2) 1800m |[HI> RAE> 13% | H#8 | 500 kg | +20 | ETHES EmREN 1:57.0
1/22 1 3FERHE 1200m |RILNTLFTH— 3&E t3 | 491 kg - FREEAR 3R — 1:16.9
7 hR3s 1500m |+F=+ 65 43 | 457 kg | +4 SRHER YE T dhid 1:38.4
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1/25 | 11 BER4RIB1(2)B1(1) 1500m |JxH—91>0 75 6 | 508kg | -2 FREEAR YE T dhid 1:35.2
1/26 7 C2(2)(3)(4) 1400m |HJLIVR—)LRZ 10& | #6 | 511 kg | -3 e 20— 1R 1:31.2
12 C1(5) 1600m |ZO—-3)LI\F—> 13% | 44 | 435kg [ +1 FeSiN IN:-E ol 1:46.1
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6 3 1400m |[F+7F=+F 7E 43 | 457 kg | O SEFER E T dhAd 1:30.5
7 3 1600m |[RYZ—— 35 #3 | 443 kg | +2 KEFEE 1SR — 1:45.5
2/1 9 C2(3)(4) 1500m |OXFv 1)L R+— 13% | 44 | 440kg | -12 AlEEZ E T dhd 1:39.9
11 F—TREFEB3(1) 1200m |[DURFA4AE> 132% | 47 | 498 kg | -2 HTHEA EHRBY 1:18.7
12 HFHFRICL(3) 1200m |+ I\ A =)L 25 6 | 533 kg | +1 IRFF A EHRBY 1:13.6
2 C3(6)(7) 1200m |/\RAIIF 13% | 46 | 462kg | -1 e a1l ISH==E5 1:17.9
2/2 4 3 1400m |7—=— 475 3 | 438kg | +1 P ERFI 13k — 1:30.9
11 1094259 —ATU> K~ | 1200m [F>2PTERT v b 10& | #8 [ 523 kg | +5 PR EHREN 1:14.0
2/3 1 4= 1600m |1 DA AFTR 65 4 | 525kg | O HTHEA IN:-E o 1:44.6
2/4 1 3 1000m [HUAS 11% | #3 | 418 kg - e a1l IN:-E o 1:04.8
5 3F 1200m [RILRILFTH— 15 3 | 492kg | +1 HHEEAE s - 1:16.3
2/5 6 3 1400m |ZJF5—A/)N\Y 5& #3 | 484 kg | -4 e a1l IN:-E o 1:32.9
11 HREEEB1(1)B2(1) 1600m |[HI> RAE> 8& 8 | 498 kg | -2 HTHEA SEHEB 1:42.7
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2/11 6 C2(12)(13)(14) 1400m |7ZILIAILAS — 9% 4 [ 510 kg | +2 EHE— IS =5 1:33.1
7 C2(12)(13)(14) 1400m |77)LTILTU— 455 7 | 454 kg | +3 e a0l BBz 1:32.7
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2/15 | 10 AR T > SB2B3 1000m |JxH—9+1>0 11% | #6 | 513 kg [ +5 HEER g dhid 1:01.1
2/16 4 C2(2)(3) 1200m [HJLIVR—)LRX 8& #6 | 521 kg | +10 | REF# 1SR — 1:14.9
C2(2)(3) 1600m [HALRX YD 10& | #5 | 553 kg | -4 BEEXHH LN 7wl 1:42.8
2/17 1 3 1500m |/\FA1tL—=% 12% | 43 | 422kg | -7 I ERFI IS =285 1:44.1
10 EEBEFRIB2(2) 1600m |TJT7I14>R 11% | #4 | 528kg | +3 KEFEL 1E2FR— 1:41.7
2/18 | 11 FFSIFRFRIC2(1) 1700m (17475 x%y ~ 25 %7 | 508 kg | -1 alEEz EHEB 1:46.3
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6 37 1600m |F5F SE | 43 | 457kg | 0 | SFEm | JET@E | 1.46.1
o1 |8 C203)(4) 1600m |OXFv1ILRF— | 158 | %4 | 443kg | 13 | GBE TETEE | 1.47.9
. e 7%= A AV #3 | 461kg | -1 SRER e ghAs -
9 5583 1600
s M RFs—= W3 [ 440kg | 3 | ABEE | EEEC .
32 | 5 37 1600m |5—— 4B | %13 | 431 kg | 7 | NEAIE | EFE— | 1.45.7
33 | 3 37 1400m | TO5—A/\< 8% | 113 | 480 kg | 4 | AEFE WmE | 1:32.7
: - ro0om |NZATTLSFA | 1B | W3 | 462kg | 0 | EEER | mEmw | 1:027
H AT 108 | 13 | 422kg | +4 | HBI% WmiE | 1:06.3
34 | 8 C2(13)(14) 1200m |7ILIAILAG— 10E | #4 | 500kg | 4 | Zm@— | BmE=W | 1:16.5
ISR —SHER ‘ : :
10 |’ /;7;53 ZE 1200m |ITH—91>2 11% | #6 | s12kg | -1 | #m@ma | wEFEE | 1:15.5
3 C34T BHACE 1600m |/ A I<F 138 | %6 | 462kg | 0 | Mm®ma | BE=RE | 1.48.1
3/5 | 11 | J-Il5>RX>vFEB3 | 1800m |[JTFPDAR 1% | #4 | 518kg | -10 | KABE® | &H#_ | 1:553
12 | JU - N—X>=—FC2(2) | 1200m |[FILIR—JLRX 138 | 16 | 517kg | 4 R EHE— | 1.16.1
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5 C2(5)(6) 1600m |[OXFv1JLRF— | 108 | %4 | 448kg | +5 | &Eet TETER | 1:44.6
\ FASa0Svv o | 9B | U3 | 463kg | +1 | IBEAR | TeTER | 1:.45.7
7 523 1600
R " == D& | %3 | 457 kg | 0 | SHmm | ErEmE | 1.44.4
3/15 O— RIS 77— 7E | 46 | 487 kg | +14 |  BHE hmmz | 1.37.1
2(3)(4 1
> c2(3)®) 00 X koD 38 | M5 | 552kg | 1 | EWEER | mEWAR | 1361
T e ;7;(—2)7’_/7; 1600m |TJTH—1>2 15% | 46 | 514kg | +2 | mmzma | wF®EE | 1:44.9
16 |5 37 1600m |[5=— & | 3 | 432kg | +1 | &=y EFE— | 1.44.8
6 C207)(8) 1200m |[WS1XF1L SE | %5 | 439kg | +11 | FIH®EA | EEA% | 1555
1 4 1200m |7vo+ 2% | 73 | 442 kg | +23 | KEEE | mmaz | 1:15.0
3/17 [ 5 37 1400m |TO5—A/\< 9E | 13 | 84lkg | +1 | ABE=Z WmiE | 1334
11 | <ILDS5>TU(ST) | 1600m [xoA71T5xy N| 88 | #7 | 502kg | 2 | ZmE— | Zm@ak | 1:42.2
1 37 1200m |HUAD 13% | %3 | 415kg | -7 EE) WwmiE | 1:21.6
218 |2 4 1600m |71 0ASTvA5R | 3B | &4 | 526kg | +1 | BEE® | EWERA%X | 1.465
6 37 1200m |/ FATCL—=F 12€ | %3 | 428kg | +6 | ME®EA | IBME=E | 1:18.2
12 ~—FEB3(2) 1200m |9« S /A AL 8% | 516 | 525 kg | 8 | Ak | EmEA% | 1:14.8
N C3(1) 1200m |E7>a%0 4% | %6 | 457 kg | +0 | MIHEA | EEE— | 1:15.3
9 C2(11)(12) 1500m |7+ /0L T0U— 2% | 717 | 450 kg | -4 EE) WmiE | 1:37.2




